AR KA

— 6 XTI £ (axt+b=c)

4 H J: e
L 2x-8=6 > gr—7=49 *4x+6=130
o 7=21 > er—3=33 O ax-4=24
T ox-7=-1 Y e-6=0 Yosxv7=47
0 x—4=2 oge+7=31 Yo -3=13
Fos-2=13 " 8x+3=51 D 2+ 4=8

www.snowmath.com


https://www.snowmath.com

AR KA

— 6 XTI £ (axt+b=c)

W44

2x—8=6
x=17
Ix+7=21
x=2
2x—T7=-1
x=3
3x—4=2
x=2
S5x—2=13
x=3

8&x—7=49
x=17
6x—3=33
xX=6
6x—6=0
x=1

8+ 7=731
x=3
8+ 3=1751
xX=6

H

www.snowmath.com

HA:

(OS]

dx+ 6 =30
xX=6
dx—4 =24
x=17
S5x+7=47
x=28
8&—3=13
x=2
2x+4=238
x=2

ﬁ]\

- S



https://www.snowmath.com

